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BUETHUIH 33JI9XYYH, TAJAPT'YYITAMH TAJBAR. VI.19.1 -1

Boponrt:

TOl — unH ypT 6 CM, epreH

2 cm, eHOep Hb 3 CM rax

y3be.

Oanraacuur 3ypraap

xapyynnaa. 3ypar gasp 1

3cm
2Ch — —
6cm
Oapnara axwun: Tarw eHuert
napannenenuneg (TOI) - wiAH
X3MXK33CYYANNr ©rceH 6on

O9Nraacuir sypaapan.

CM — UIT 1 H3MK ra) aBCaH.

[anraacuiir OnoH sH3aap

3ypXX OOMHO, 3HA 36BX6H

Har XyBUno6apbir

Xapyynnaa.

3ypraap ercen TOII — uitn marascuiir 3ypaapaid. (1 cM — widr 1 HIMK MK Y3HD)

1.
Tom
2 cm
3cm
2.
2CM
Sem lcm
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BUETUMH 33JI9XYYH, TAJAPTYYTUVH TAJIBAN. VI1.19.1— |
3ypraap ercen TOII — uiin qamrascuiir 3ypaapaid. (1 cM — wiir 1 HIMK %K Y3H?)

Bem

4em

6cm

2. Tarur eHIerT napauieieuIeAiH YPT Hb 8§ CM ©preH Hb 6 CM OHIOp Hb 2 CM 00JI IJITI3CUIT 3YP.
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2ck
bcm

Bonjoro: Thri eHierr
napautenernuneauiia (TOIT)

3cm

raIapryyriuiH Tan0air apiaranc

aIlTUTIIaH OJIOOPOM.

3ypar 193p 1 cMm — uir 1 HArXK

0OO0JITOH aBCaH.

S

eaoapayy

=2A+2B+2C=2(A+B+C)=
2(18+6+12) = 2x36 = 72cnm’

Bopoar: Hapaax
AIXMBIH Jaryy
TOOLIOOJIK OJIBE.
a.TOII — uitn
HYYP3H TaJI 00JI0H
ap TaJbIH Taa0anr
oiHo. (A)

0.X0€p xaxyy
TaJICBIH TaJI0anT
oxHo. (B)

B.JIP37, noox
CYYpHIH TamOaunr
oxHo. (C)
Daranpuiir
XOOPOH/I Hb HOMHD.

TOII - uiiH ragapryyruis Tanoanr A3rnc ammrian omoopoi. (1 cM — uidr 1 HIrK OOJNToH aBcaH)

1.
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3.

Jacrasnbis gyraap 1 2 3 4

Huiit

OepuiiH YHIITI)




CYPATUHIH OBOT HIP «.eeuveeevrrrrereeeeeneeseeeesesssssssseeeeeeeeees DXDJICOH ....... OH ..... cap ..... oILop ...... mar
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BUETUMH 33JI9XYYH, TAJAPTYYTUVH TAJIBAN. VI1.19.2 - |

Tarmi eHIerT NapauIeICIHIISINIH I3I3XYYHUUT HAMK Ky0 TOOJIOX apraap OJIOOPOH.

la. Horxk kyOsiH 1 upMar 1 oM 1K y3H3. 16. Horx xy6srH 1 mpMoar 1 cM 19K Y3HD.
2a. Harx xkyObiH 1 upmar 1 1M rak y3Ho. 206. Hoarx xyObiH 1 upmar 1 cM rak y3H3.
3a. Horx ky0Obin 1 upmoar 0.5 cM rax y3H). 36. Harx kyObIH 1 HpMAT 5 €M XK Y3H).
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4. Tarm eHUerT napauleenuIeIuiH 3I9XYYH 0JI0X TOMbBEOT YIadp Onunx Taitnbapiaapail.

eHdep

ep% %

5. Tarm eHUerT NapaeenuIeuiiH ypT, OproH, enaep Hb xapransan a,b,h 6on »31xyyH onox

TOMBEOT OUUIIPIH.

JacranslH gyraap la 16 2a 26 3a 30 4 5 Huiit
OepuilH YHIIr??
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Tarir eHIErT napaieaenuneIuiiH ypT, OpreH, oHAep Hb xapram3an a,b,h 6om:
23IXYYHHHT oox Tomeéo: V =5, xh=axbxh
rajapryyrui tanoar onox tomséo: S, .. = 2(ab+ah +bh)
TOII — nitH 33M3XYYH, TaAapTryyTHiH Tan0alT 0I00poii.
1.
dcm
3cm
6cm
2.
2cm
6cm
5cm
3.
3cm
dcm
5cm
4,
7cm
3cm
5cm
5.
5cm
10cm
6cm
JacranslH gyraap 1 2 3 4 5 Huiit
OepuilH YHIIr??

Hyyccan ....... OH ..... cap ..... ezep .... liar
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BUETHUUH 233JI9XYYH, TAJAPTYYIMHH TAJIBAM. VI1.19.1 — 19.2
Oepuiiree copux.

1. Jlapaax mpari3scyya KyOBIH AITIC 0OIDK Yaiax yy, IIMHIAP HIMXK J3JTI3C 3ypaapai.

ILTH ‘]ﬂ

2 TOII — niin ypT, epreH, eHaep xaprai3a 6 cMm, 1 cMm, 3 cM 601 1dATIICUUT 3yp. 1 cM — uiir 1 HArk
2K aBHa. [[311r33¢33 almriian rajapryyruit Taji0anr 0JI00po.

3.TOII — nitH rypBaH XaMK33CYYAMUT 3ypraap erceH 00 3313XyyH OO0JI0H rajapryyruis Tandanr
TOOLIO0JDK OJIOOPOH. D3IIXYYHHM HAITKHUHIT AM.KYO — 93P HIDPXHAIIIPIM.

11lcm
3cm
2cm
JlacranbiH 1 ) 2 Huiir
Jryraap
Xapuy




